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QUESTION 1

A company is planning to use the Horizon 6 product suite to transform the end user computing environment in the
organization. 

Which two statements represent capabilities of the Horizon 6 family of products can help the company fully transform
their environment? (Choose two.) 

A. VMware Virtual SAN provides a centralized management console for administrators to manage end user document
workspaces. 

B. VMware ThinApp is a remote desktop solution that will allow you to move all desktops to central location. 

C. VMware Mirage is a centralized desktop image management technology that supports layered image management. 

D. VMware Horizon (with View) virtualizes user operating systems, applications and user data. 

Correct Answer: CD 

 

QUESTION 2

Which statement reflects an Accessibility challenge that could be addressed by a now VMware Horizon (with View)
deployment? 

A. To further protect our data, we need to make sure that even if someone gets an authorized user\\'s credentials, they
can\\'t login with them. 

B. Physical computers cost so much to buy, maintain, and replace. It would be great to have a simple device that would
last for years and require little if any maintenance effort. 

C. Our existing storage device is already heavily used; we want to minimize the additional space required for the new
desktop virtualization system. 

D. Some users have graphics Intensive Jobs and need the highest quality and performance possible. 

Correct Answer: B 

 

QUESTION 3

An administrator has received complaints from several mobile and remote branch office users regarding performance.
Users report extremely slow access when connecting to the company VPN to take backups and snapshots. 

Which solution overcomes this issue and allows end users to backup and synchronize devices to the datacenter without
a VPN? 

A. VMware Horizon Security Server 

B. VMware View Composer 

C. VMware Mirage Gateway 
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D. VMware vRealize Automation 

Correct Answer: C 

 

QUESTION 4

A medium sized company manages over 1,000 virtual machines, which are running on six ESXi hosts in a VMware
Horizon 6 infrastructure. 

The existing storage array is suffering lion performance and capacity issues. The company is considering deploying a
new storage array, but is concerned about the cost. 

Which VMware solution otters a software-defined storage platform that is fully integrated with vSphere and can be
deployed without the need for an external storage array? 

A. iSCSI 

B. Fibre Channel over Ethernet 

C. Virtual SAN 

D. VMFS 

Correct Answer: B 

 

QUESTION 5

An administrator wants to deploy application pools, but the company is concerned about securing and managing them.
How do application pools overcome the company\\'s concerns? 

A. Applications are presented the same way on different devices. 

B. Applications can be installed locally. 

C. Applications are stored centrally in the data center. 

D. Applications are dedicated for each user. 

Correct Answer: B 
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